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Notes: Solving Equations

Do Now: Solve for x in each of the equations.

1) 2.25(6x — 12) = —18 + 19.5x + 20 2)y=mx+b
18.5%-27= ~I18+/19-FTx +20 b -b
13.5%-27=19.5y +2

-29: G x _‘l;b. ‘“X

Which value of x satisfies the equation =(x + —~

S0+ 5(%) * 36 ( )ix 35.625 % \
Txrg 3 (x=42.75

Putting Fractions in the Calcula'ror

sok for bu‘Hbq
TI-§4 : |ALpH 3-»‘\; —~ )i a/ld o|Ente—

How about.... i
24— 15=2§ +15 vs —-15=2¢—15
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Solve the equation below for x in terms of k.
— 8(kx —9) — 3kx = 28 — 13k

Sky-72-3kx=28-13k
Tkx-72=2%5-13k
£72 U

Tkx= 100-13k

X= "5k

The equation for the volume of a cylinder is V = mr2h. The positive value of r, in terms of h and V, is

SC‘\' ¢ ahne

Solve for x in the equation,

Fachr ovtan " on the leFF side of fhe
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Name: Date:

Classwork: Solving Equations
Solve each of the equations for the variable stated. If no variable stated, solve for x.

1) Solve for H: B=H +xH 2) 5(0.5x — 12)——(x 2.4)
6= RO+ 2.5%-6*2. 5 - 2.9x- o
iy 17X Sema
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3) Solve for h: V =1mrh, 4)4[0.3b + (=5)] + 12 = 0.8(2b - 3)

(B\y: 3“(.1}\( L2b-20+ =L 6h-0.H

- o
3\! “(’ k \ﬁ 4'03 -l‘gbb 4;2'-(
= 2.6+~ 0.9b

E

The distance a free falling object has traveled can be modeled by the

1
equation d = —at2 where a is acceleration due to gravity and ¢ is

the amount of tlme the object has fallen. What 1s t in terms of @ and d?
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6) qx-Q3=O.3XfO.G vZ.\\

An equation is gi\flf lieio)w; N le_ = °'3x 3 2 . 7 \
(x 7) = 0.3(x . “b’;x 8 .0.3* * 23

The solution to the equation is

® 3 '37)( =30-7(
2) 8.7 (4) =3 '—3..7 3'_)
X= 953

7)

The formula for blood flow rate is given by F = 5! ; Pg‘ where F r\ F - ?' - P’L

is the flow rate, p, the initial pressure, p, the final pressure, and r T cmm— (
the resistance created by blood vessel size. Which formula can not be r

derived from the given formula?
i D) Fe: P
- ]
(PP, =p, —Fr (4) r F F F

r s Pc' P‘l.

8) The formula for the area of a triangle is A = %bh. Express b in terms of A and h.

(Z\A=%£bh(F)
Z_':‘f'llb— :2——A~
R N

The area of a triangle is 45 square feet and its height is 3 ft. Find the hese of the triangle.
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